
EX MBA SEM 1 (2023-25) Cost Accounting Assignment 3 – 40 marks
1.  Prepare cost sheet from the following details -                              
Cost of goods sold 56000
Direct labour cost 16000 (160% of factory overheads)

Stock of raw material Opening 8000, closing 8600

Stock of WIP Opening 8000, closing 12000

Stock of Finished goods Opening 14000, closing 18000

Administration overheads 2600

Selling overheads 3400

Sales 75000                                                                                                       (15 Marks)
2. Draw Breakeven chart on a graph paper with the following details and justify that by formula
Selling price per unit Rs.200, Direct material Rs.45, Direct labour Rs.54 per unit, Direct expenses Rs. 26 per unit and variable overheads Rs.25 per unit. Its total fixed cost Rs.5,00,000                           






(15 Marks)
3. Under marginal costing generally we say selling price should be above Variable cost. Do you agree? If yes, why? What can be situations under which Selling prices can be less than variable cost? 







(10 Marks)
Hand written solutions to be submitted on or before 20th  October 2023
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